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Going up
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m Going down
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Peaks and troughs

If a figure rises to a leve] and then stops rising, remaining at that level, it levels off and

remains steady or stable.
If a figure reaches its highest level - a peak — and then goes down, it peaks at that Jevel,
I£ it reaches its lowest level — a trough — and then bottoms out, it falls to that level and

then starts rising again.

m Boom and bust ;
Demand is the amount of goods and services that people want in a particular petiod.

86

A boom is when there is rising demand, and other indlicators are strong.

Stagnation is when the economy is growing slowly, or not at all.

Stagflation is when slow growth is combined with prices that are increasing fast,
Recession is a period when there is negative growth, a period when the economy is
producing less. A slump is a very bad recession. A depression is a very bad slump.
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Look at these headlines containing words
statements about them are wrue or false,
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from A and B opposite and say whether the

Gales have nsen by @ small amount

[he British pound has fullen a Jot

value, but the US di illar has fallen less.

he shars price has increased bocause

one of the company's new drogs arill

probably be approved lor use

Shares in AMB have fallens because it
4 may be a takeover target,

'I'hc difference between Japanese imposts
7 and exports has increased a lot.

_‘I'he president has asked the finance
minister o stay in bis job.
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and what it receives,

. «— Drices in Paradiso have risen sharply.
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39.2 Complete the crossword with expressions from C and D opposite.
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'Auoss
-1 The worst ,possnblc

economic situation. (10)

5 Inflation , . when it reaches its highest

level. (5)
9 When unerqploymem stays at its highest it
(6,3)
11 When ougput starts riging from its lowest
level it 7 .. 4,(75,3)

Down
2 A period when the economy is not healthy. (%)

3 Worse than 2 down, but not as bad as 1
across., (5)

4 During a recession, there 1s
(8)

6 Rising prices without rising ;,ruwm (11}

7 A very slow economy. (10)

8 If inflation doesn’t change, it remains

Jgrowth.

| 6)
10 A very pu’slxvc economic sitwanon. (4)

well has it performed the last
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